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- Useful tool : - to approximate Binomial Prob .

- Computation : Numerical tables for I

Question : - o

when do we use the above

approximation ?

• Are these other approximations ?

. How to use approximation effectively
?
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Binomial(50, 0.4)
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Binomial(150, 0.4)
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Facti . • For Binomial Cn , b) *
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• It does not work if no> but

pic ⇒ hp is not large

Different Approximation in such cases : -

Poisson Approximation

n - large D= In for some > >o [np=X]
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Poisson Distribution : - ✗~ Poisson 41 if
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Then Xt Y ~ ?
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limiting procedure D= In

✗- Poisson (µ and Y N Poisson ( X )

⇒ ✗ +Y ~ Poisson Cµ+X)



Usageofpoisa.nl#:- Counts of rare events

E.s : # of atoms undergoing radio decay

during a short period of time .

Think of counts as number of sueccsss in a

large numbers of trials ( independent) with the

chance of success on any particular total

being very small
.

Sampling WITH / lout ) Replacement

Toon : 5000 people
- tooo people under age of 18

Select : 4 people
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WITTY Replacement
- success - choose a person under 18
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